HRBILEA ERRELR

F—ESHEHR (BT TREMIARR)
ENBMUEEINGTES

(B) ¥M58F4H1H (#) HM6HF3H31H

(BT : M)
BENE FE(A) SRE(B) ER(A)-(B) "=

NERRBLINA 683, 358, 000 685, 280, 230 1,922,230

5 | IR | SRASELSIA 751 751
EYPNEDTTLION 8, 089, 000 8,374, 204 -285, 204
B |BEEESIRAGH (1) 691, 447, 000 693, 655, 185 -2,208, 185
}if A 499, 471,000 503, 704, 496 4,233, 496
5|g EE S 94, 698, 000 98, 495, 023 -3,797,023
3 |, |PBER 62, 089, 000 63, 351, 466 1,262, 466
W sanflss 4,336, 000 4,570, 144 -234, 144
2| [sEEmmwt (2) 660, 594, 000 670, 121,129 9,527,129
EEEHESNZEE (3) = (1) - (2) 30, 853, 000 23, 534, 056 7,318,944
= | U | ERRER RSB RINA 8, 657, 000 8,657, 192 -192
% (A | fEsasemEsImAct (4) 8, 657, 000 8,657, 192 -192
Bl |wmasmEAscemEsy 16, 788, 000 17, 987, 000 -1, 199, 000
f ¥ |EEgEmEs 641, 000 6, 556, 040 -5, 915, 040
£ | |z -2 Ess o 3,274, 000 3,276, 240 -2, 240
3| |sEREEmssdEt (5) 20, 703, 000 27, 819, 280 7,116, 280
W |smampmeaanssmE (6) = (4) — (5) -12, 046, 000 -19, 162, 088 7,116, 088
g Y | EEESESEARIRA 40, 000, 000 10, 000, 000 30, 000, 000
= | A |z20thoEBRAG (7) 40, 000, 000 10, 000, 000 30, 000, 000
B | % | RESESEASTREESY 49, 608, 000 18, 774, 000 30, 834, 000
€ |t |zotoEs=HE (8) 49, 608, 000 18, 774, 000 30, 834, 000
* ot EMERINEER (9) = (7) - (8) -9, 608, 000 -8, 774, 000 834, 000
FHEZH (10) 0
LHIESIRTERESE (11) = (3) + (6) + (9) — (10) 9, 199, 000 -4, 402, 032 13,601, 032
BIEARZINESRS (12) 108, 280, 530 108, 280, 530 0
UERSTIERES (11) + (12) 117, 479, 530 103, 878, 498 13,601, 032
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